
PROFESSIONAL EXAMINATION BOARD
Police Constable Recruitment Test ­ 2016

6th August 2016, 12:00 PM
Topic:­ General and Logical Knowledge
1)

Question Stimulus :­

There are five persons P,Q,R,S and T. One is foot ball player, one is chess player and one is
hockey player. P and S are unmarried ladies and do not participate in any game. None of
the ladies play chess or football. There is a married couple in which T is the husband. Q is
the brother of R and is neither a chess player nor a hockey player. / पाचँ Ґ䄀欃ő P,Q,R,S और T
हġ। इनमg स ेएक फुटबॉल 䄀欃खलाड़ी ह,ै एक शतरंज 䄀欃खलाड़ी ह ैऔर एक हॉकी 䄀欃खलाड़ी ह।ै P और S अिववािहत मिहलाएं हġ
और िकसी खले मg िह㠀挂ा नही ंलतेी हġ। इनमg स ेकोई भी मिहला शतरंज या फुटबॉल नही ंखलेती ह।ै एक िववािहत जोड़ा है
िजसमg T पित ह।ै Q, R का भाई ह ैऔर न ही शतरंज 䄀欃खलाड़ी ह ै न ही हॉकी 䄀欃खलाड़ी।

The three ladies are : / तीन मिहलाएं हġ ­

P,Q,R

Q,R,S

P,R,S

P,Q,S

Correct Answer :­P,R,S 

2)

Question Stimulus :­

Hyder Ali was the ruler of / हदैर अली यहा ँके शासक थ।े

Mysore / मसैरू

Hyderabad / हदैराबाद

Madurai / मदरुै

Vijayanagar / िवजयनगर

Correct Answer :­Mysore / मसैरू 

3)

Question Stimulus :­



Select the statement that is the negative of the statement "Some roses are red." / उस कथन
को चनुg जो इस कथन का ĸितवाद ह ै"कुछ गलुाब लाल हġ”

Some roses are not red / कुछ गलुाब लाल नही ंहġ

All roses are red / सभी गलुाब लाल हġ

No roses are red / कोई गलुाब लाल नही ंहġ

None of the above / उपरोő कोई नहीं

Correct Answer :­No roses are red / कोई गलुाब लाल नही ंहġ 

4)

Question Stimulus :­

Makhanlal Chaturvedi Samaroh is held in _______. / माखनलाल चतवुĝदी समारोह _______ मg आयोिजत िकया
जाता ह।ै

Bhopal / भोपाल

Jabalpur / जबलपरु

Orchha / ओरछा

Hoshangabad / होशगंाबाद

Correct Answer :­Jabalpur / जबलपरु 

5)

Question Stimulus :­

A postman has to deliver post in 4 streets. Each street has 10 houses. He takes 1 min to
deliver letter in each house and 5min to travel between each house in each street. He takes
30 min to go to the next street. His day starts at 9 AM and finishes off by 4 PM, with an
hour of lunch break.  / एक डािकए को 4 गिलयो ंमg डाक दनेी ह।ै हर गली मg 10 घर हġ। वह हर घर मg डाक दने ेमg
1 िमनट लतेा ह ैऔर 5 िमनट ĸ䄀欃के गली मg ĸ䄀欃के घर के बीच याjा करन ेमg लगाता ह।ै वह 30िमनट अगली गली मg  जाने
मg लगाता ह।ै उसका िदन सबुह 9बज ेशiु होता ह ैऔर 4बज ेख़ᘀ윅 होता ह,ै इस बीच वह 1घ́ ेका दोपहर के भोजन के िलए
समय लतेा ह।ै

If in each street only 5 houses has to be delivered with letter, what is the latest he should
start such that he finishes off his work by 4PM? / अगर हर गली मg केवल 5 घरो ंमg पj िवत䨀✄रत िकय ेजाने
हġ, तो वह िकतनी दरे स ेकाम शiु करg तािक काम 4बज ेतक समा쀍 हो जाय?े

9 AM / सबुह 9 बजे

10 AM / सबुह 10 बजे

11 AM / सबुह 11 बजे



12 Noon / दोपहर 12 बजे

Correct Answer :­11 AM / सबुह 11 बज े

6)

Question Stimulus :­

Who was conferred with the Arjuna Award for Hockey in 2015? / 2015 मg हॉकी के िलय ेअज縂ुꬅन परुसक्ार िकस ेिदया
गया था?

Saba Anjum Karim / सबा अजंमु करीम

Sardar Singh / सरदार िसहं

Sreejesh Ravindran / mीजशे रिवΚन

Sunil Yadav / सनुील यादव

Correct Answer :­Sreejesh Ravindran / mीजशे रिवΚन 

7)

Question Stimulus :­

Select the option that is true about the Statements and Conclusions given: / वह िवकώ चिुनए
जो िदए गए कथनो ंएव ंिनМषꬅ के बारे मg सही ह:ै

Statements: / कथन:

All roses are flowers /  सभी गलुाब फूल हġ

All lilies are flowers / सभी कुमदुनी फूल हġ

Conclusions:      / िनМष縂ꬅ:

I. All roses are lilies /  सभी गलुाब कुमदुनी हġ

II. All lilies are roses / सभी कुमदुनी गलुाब हġ

Only conclusion I follows / केवल िनМष縂ꬅ I िनकलता है

Only conclusion II follows / केवल िनМष縂ꬅ II िनकलता है

Both conclusion I and II follows / दोनो ंिनМष縂ꬅ I और II िनकलत ेहġ

None of the conclusion I or II follows / िनМष縂ꬅ I या II मg स ेकोई  नहीं
िनकलता है

Correct Answer :­None of the conclusion I or II follows / िनМष縂ꬅ I या II मg स ेकोई 
नही ंिनकलता ह ै



8)

Question Stimulus :­

Choose the number which is different from others in the group. / उस स䴀ं�ा को चिुनय ेजो समहू मg
बाकी सब स ेअलग ह|ै

17

27

29

37

Correct Answer :­27 

9)

Question Stimulus :­

Indian Railways is the ______ rail network in Asia, and world’s _______ under one single
management. / भारतीय रेल एिशया मg ______ रेल सघं ह,ै और दिुनया मg एकल ĸबधंन के तहत  _______ ह।ै

Largest, Largest / सबस ेबड़ा, सबस ेबड़ा

Largest, Second Largest / सबस ेबड़ा, दूसरा सबस ेबड़ा

Second largest, Second largest / दूसरा सबस ेबड़ा, दूसरा सबस ेबड़ा

Second Largest, Third Largest / दूसरा सबस ेबड़ा, तीसरा सबस ेबड़ा

Correct Answer :­Largest, Second Largest / सबस ेबड़ा, दूसरा सबस ेबड़ा 

10)

Question Stimulus :­

In the following question, there is certain relationship between the first two words. Choose
the fourth word from the following options which has a similar kind of relation with the
third word. / िनη ĸЍ मg, पहल ेदो श䨀�ो ंके बीच 㠀䐄Њ सबंधं ह|ै िनη िवकώो ंमg स ेचौथा श䨀� चिुनय ेिजसका तीसरे
श䨀� के साथ उसी ĸकार का सबंधं ह|ै

TIGER: CAT::WOLF: ? / बाघ : िब꼀ꨂी :: भिेड़या : ?

CANINE / कुóुरीय

DOG / कु̃ा

FOX / लोमड़ी



NONE OF THESE / इनम◌ें स ेकोई नहीं

Correct Answer :­DOG / कु̃ा 

11)

Question Stimulus :­

___ river connects the Calcutta port with sea. / ___ नदी समĵु के साथ कलक̃ा बदंरगाह को जोड़ती ह।ै

Yamuna / यमनुा

Kosi / कोसी

Tapti / ता쀍ी

Hooghly / îगली

Correct Answer :­Hooghly / îगली 

12)

Question Stimulus :­

‘Head’ is related to ‘cap’ in the same way as ‘finger’ is related to / ‘िसर’ ‘टोपी’ स ेउसी ĸकार सबंिंधत ह ैिजस तरह ‘उगंली’
सबंिंधत ह ैइससे

Nail / नाखनु

Helmet / हे̈́ टे

Ring / अगंठूी

Thimble / दजꬅ ¸ारा ĸयőु अगंЙुाना

Correct Answer :­Thimble / दजꬅ ¸ारा ĸयőु अगंЙुाना 

13)

Question Stimulus :­

Amol is the husband of Beena, Jenny is the daughter of Beena, Diksha is the sister of Beena, Hira is the son of Diksha, What
is the relaᜀ꼄onship of Diksha to Jenny? / अमोल बीना का पित ह,ै जनेी बीना की बटेी ह,ै दी尀�ा बीना की बहन ह,ै हीरा दी尀�ा का बटेा
ह,ै दी尀�ा का जनेी स ेsा सबंधं ह?ै

Neice / भाजंी

Cousin / चचरेा भाई

Aunt / मौसी



Sister‐in‐law / नΪ

Correct Answer :­Aunt / मौसी 

14)

Question Stimulus :­

Rampura Khunal Tank is located between / रामपरुा कुणाल टgक िनу न के बीच 䄀欃эथत है

Tapti and Narmada rivers / ताп ती और नम縂ꬅदा नदी

Indore and Bhopal / इќ दौर और भोपाल

Gwalior and Morena / ѓ वािलयर व मरुैना

Chambal and the Betwa rivers / चबंल व बतेवा नदी

Correct Answer :­Indore and Bhopal / इќ दौर और भोपाल 

15)

Question Stimulus :­

Who decides questions on the disqualification of members of Parliament? / ससंद के सद䌀�ो ंकी अयोùता पर ĸЍों
को िनधा縂ꬅ䨀✄रत कौन करता ह?ै

The President in his own judgment / राЊ縂ꬅपित अपन ेᘀ┄यं के िनण縂ꬅय मg

The Council Ministers / मिंj प䨀✄रषद्

The President on the basis of the opinion tendered by the Election Commission / चनुाव आयोग ¸ारा मत
ĸЭाव के आधार पर राЊ縂ꬅपित

Parliament / ससंद

Correct Answer :­The President on the basis of the opinion tendered by the Election Commission / चनुाव
आयोग ¸ारा मत ĸЭाव के आधार पर राЊ縂ꬅपित 

16)

Question Stimulus :­

A dice contains six alphabets from A to F on its six faces. Two Positions of Dice
are shown below: एक पास ेके 6 फलको ंके ऊपर A स ेलकेर F अ尀�र अिंकत हġ| पास ेकी दो अवэथाएँ
नीच ेिदखाइ गई हġ:



Which of the following alphabet does not appear on any one of the adjacent
surfaces of the alphabet A? / िनηिल䄀欃खत मg स ेकौन सा अ尀�र A अ尀�र के िकसी भी सलं⤀ᴃ सतह
पर ĸकट नही होता ह?ै

C

F

E

B

Correct Answer :­F 

17)

Question Stimulus :­

Select the option that is true about the Statements and Conclusions given: / वह िवकώ चिुनए
जो िदए गए कथनो ंएव ंिनМषꬅ के बारे मg सही ह।ै

Statements: / कथन:

All teachers are students / सभी िश尀�क छाj हġ

All students are professors / सभी छाj ĸोफ़ेसर हġ

 

Conclusions:      / िनМष縂ꬅ:

I. All teachers are professors / सभी िश尀�क ĸोफ़ेसर हġ

II. All professors are teachers /  सभी ĸोफ़ेसर िश尀�क हġ

Only conclusion I follows / केवल िनМष縂ꬅ I िनकलता है

Only conclusion II follows / केवल िनМष縂ꬅ II िनकलता है

Both conclusion I and II follows / दोनो ंिनМष縂ꬅ I और II िनकलत ेहġ

None of the conclusion I or II follows / िनМष縂ꬅ I या II मg स ेकोई  नहीं



None of the conclusion I or II follows / िनМष縂ꬅ I या II मg स ेकोई  नहीं
िनकलता है

Correct Answer :­Only conclusion I follows / केवल िनМष縂ꬅ I िनकलता ह ै

18)

Question Stimulus :­

Who was the guardian of Akbar? / अकबर के अिभभावक कौन थ?े

Maham Anga / महामगंा

Bairam Khan / बरैम खान

Humayun / îमायूं

Todar Mal / टोडरमल

Correct Answer :­Bairam Khan / बरैम खान 

19)

Question Stimulus :­

Select the statement that is the negative of the statement "She is a blonde." / उस कथन को चनुg
जो इस कथन का ĸितवाद ह ै"वह गोरी ह”ै

She is a red­head / वह लाल बालो ंवाली है

She is a brunette / वह सावंली है

She has no hair / उसके बाल नही ंहġ

She is not a blonde / वह गोरी नही ंहै

Correct Answer :­She is not a blonde / वह गोरी नही ंह ै

20)

Question Stimulus :­

The drafting of the Indian Constitution was completed on / भारतीय सिंवधान का मसौदा इस िदन परूा िकया गया।

26th January 1950 / 26 वg जनवरी 1950

26th December 1949 / 26 वg िदसबंर 1949

26th November 1949 / 26 वg नवबंर 1949



30th November 1949 / 30 वी ंनवबंर 1949

Correct Answer :­26th November 1949 / 26 वg नवबंर 1949 

21)

Question Stimulus :­

If P+Q means P is the sister of P and Q+R means Q is the mother of R, how is P related to R? / यिद P+Q का अथ縂ꬅ ह ैिक P,
Q की बहन ह ैएव ंQ+R का अथ縂ꬅ ह ैिक Q, R की माता ह,ै P, R स ेिकस तरह स儀ᴃिंधत ह?ै

P is the sister of R / P, R की बहन है

P is the mother of R / P, R की माता है

P is the aunt of R / P, R की चाची है

P is the niece of R / P, R की भतीजी है

Correct Answer :­P is the aunt of R / P, R की चाची ह ै

22)

Question Stimulus :­

Saraswati Samman is given annually for outstanding contribution to _____ / सरᘀ┄ती सκान
ĸितवष縂ꬅ _____ मg उ℀嘅Њ योगदान के िलए िदया जाता ह।ै 

Literature / सािह䄀欃

Fine Arts / लिलत कला

Education / िश尀�ा

Performing Arts / िनТादन कलाएँ

Correct Answer :­Literature / सािह䄀欃 

23)

Question Stimulus :­

The jumbled letters of words are given below. Each letter has been numbered. Choose the
option which gives the correct order of the letters as indicated by the numbers to form
meaningful word. / श䨀�ो ंके अҐव䄀欃эथत अ尀�र नीच ेिदय ेगय ेहġ| ĸ䄀欃के अ尀�र को स䴀ं�ािकत िकया गया ह|ै वह
िवकώ चिुनय ेजो साथ縂ꬅक श䨀� की रचना के िलय ेस䴀ं�ाओ ंके iप मg अ尀�रो ंका सही ïम दतेा ह|ै

N R O C T A

1 2 3 4 5 6



1,6,2,4,3,5

2,3,5,4,6,1

4,6,2,5,3,1

6,5,2,3,1,4

Correct Answer :­4,6,2,5,3,1 

24)

Question Stimulus :­

Select the option that is true about the Statements and Conclusions given: / वह िवकώ चिुनए
जो िदए गए कथनो ंएव ंिनМषꬅ के बारे मg सही ह।ै

Statements: / कथन:

All cups are glasses / सभी कप चІ ेहġ

All glasses are plates / सभी चІ े⠀ȉटेg हġ

Conclusions: / िनМष縂ꬅ:

I. All cups are plates / सभी कप ⠀ȉटेg हġ

II. All plates are cups / सभी ⠀ȉटेg कप हġ

Only conclusion I follows / केवल िनМष縂ꬅ I िनकलता है

Only conclusion II follows / केवल िनМष縂ꬅ II िनकलता है

Both conclusion I and II follows / दोनो ंिनМष縂ꬅ I और II िनकलत ेहġ

None of the conclusion I or II follows / िनМष縂ꬅ I या II मg स ेकोई  नहीं
िनकलता है

Correct Answer :­Only conclusion I follows / केवल िनМष縂ꬅ I िनकलता ह ै

25)

Question Stimulus :­

This king introduce the systems of dagh and chehra, branding of horses and
detailed description of each soldier respectively / इस राजा न ेदाग़ और चहेरा, घोड़ो ंको
दागना एव ंĸ䄀欃के सिैनक के िवЭतृ वण縂ꬅन की ïमानसुार ĸणािलयो ंको ĸारंभ िकया था।

Alla­ud­in Khalji / अ꼀ꨂाह उद इन खτी

Balban / बलबन



Ibrahim Lodhi / इĺािहम लोधी

Akbar / अकबर

Correct Answer :­Alla­ud­in Khalji / अ꼀ꨂाह उद इन खτी 

26)

Question Stimulus :­

Other than Lata Mangeshkar, which other female musician has received the Bharat Ratna? / लता मगंशेकर के
अलावा, कौन सी अΎ मिहला सगंीतकार को भारत र䨀嘅 िमला था?

P Susheela/ पी सशुीला

K S Chithra/ के एस िचjा

Asha Bhosle/ आशा भोसले

M.S. Subbulakshmi/ एम.एस. स─ुलुßी

Correct Answer :­M.S. Subbulakshmi/ एम.एस. स─ुलुßी 

27)

Question Stimulus :­

In a class, among the passed students, Amisha is twenty second from the top and sajal,
who is ranks below Amisha, is thirty fourth from the bottom. All the students from the
class have appeared for the exam. If the ratio of the students who passed in the exam to
those who failed is 4:1 in that class, how many students are there in the class? / एक क尀�ा मg,
उ̃ीण縂ꬅ छाjो ंके बीच, अमीषा ऊपर स ेबाईसवg эथान पर ह,ै और सजल जो अमीषा स ेनीच ेэथान पर ह,ै चौतंीसवg эथान पर ह।ै
क尀�ा स ेसभी छाj परी尀�ा के िलए ĸकट îए हġ। उस क尀�ा मg परी尀�ा मg उ̃ीण縂ꬅ छाjो ंका अनु̃ीण縂ꬅ छाjो ंस ेअनपुात 4:1 ह,ै तो
क尀�ा मg कुल िकतन ेछाj हġ?

60

75

90

Data inadequate / अपया縂ꬅ쀍 जानकारी

Correct Answer :­75 

28)

Question Stimulus :­

In the following diagram. / िनη आकृित मg



Circle S stands for households having a scooter;/ वृ̃ S Чूटर वाल ेप䨀✄रवार दशा縂ꬅता ह।ै

Circle T stands for households having a TV set; / वृ̃ T टी.वी वाल ेप䨀✄रवार दशा縂ꬅता ह।ै

Circle W stands for households having a washing machine; / वृ̃ W वािशगं मशीन वाल ेप䨀✄रवार
दशा縂ꬅता ह।ै

Circle C stands for households having a car. / वृ̃ C कार वाल ेप䨀✄रवार दशा縂ꬅता ह।ै

Note: The different numbers indicates the non­over lapping regions. For example, S
represents unions of regions 1,11,12,8,9,10 and 6. / िटपက윅ी: अलग स䴀ं�ाएँ गरै अकंवार 尀�jेो ंको सिूचत
करती हġ। उदाहरण के िलए, S ĸЭतु करता ह ै尀�jेसघं 1,11,12,8,9,10 और 6।   

Households having  a TV set but  not a washing machine are given by the region / केवल टी.वीं
सटे वाल े,परंत ुवािशगं मशीन न होन ेवाल ेप䨀✄रवार को यह 尀�jे दशा縂ꬅता ह।ै

2

11

12

13

Correct Answer :­2 

29)

Question Stimulus :­

Shirish is taller than Ashutosh, Raju is taller than Charu but shorter than Balu. Ashutosh is
shorter than Charu. Charu is taller than Shirish. Who is the tallest? / िशरीष आशतुोष स ेलबंा ह,ै राजू
चाi स ेलबंा ह ैपर बाल ूस ेछोटा ह।ै आशतुोष चाi स ेछोटा ह।ै चाi िशरीष स ेलबंा ह।ै सबस ेलबंा कौन ह?ै

Shirish / िशरीष

Bala / बाला



Raju / राजू

Ashutosh / आशतुोष

Correct Answer :­Bala / बाला 

30)

Question Stimulus :­

Who was the first Governor General of India aᤀᘅer independence? / आजादी के बाद भारत के ĸथम गवन縂ꬅर जनरल कौन
थ?े

Dr. Rajendra Prasad / डॉ राजgĵ ĸसाद

C. Rajagopalachari / सी. राजगोपालाचारी

Lord Mountbaᜀ䀅en / लॉड縂ꬅ माउटंबटेन

Sardar Patel / सरदार पटले

Correct Answer :­Lord Mountbaᜀ䀅en / लॉड縂ꬅ माउटंबटेन 

31)

Question Stimulus :­

Which was a major connecting link of trade routes and conveniently located near the ancient ports of Gujarat as
well as to Malwa, Mewar, Central India and the Deccan India? / कौन सा ĸमखु सबंधंसjू Ґापार मागꬅ को जोड़ने
के िलए था और साथ ही गजुरात, मालवा, मवेाड़, म䰀洅 भारत और डóेन भारत के ĸाचीन बदंरगाह के िनकट 䄀欃эथत
था?

Chanderi / चदंरेी

Malwa / मालवा

Indore / इदंौर

Jabalpur / जबलपरु

Correct Answer :­Chanderi / चदंरेी 

32)

Question Stimulus :­

1. Eleven students A,B,C,D,E,F,G,H,I,J and K are sitting in the first row of the class facing
the teacher. / ùारह छाj A,B,C,D,E,F,G,H,I,J और K िश尀�क की ओर मखु िकए îए क尀�ा की पहली प䄀ं欃ő मg बठैे
हġ। 



2. D is to the immediate left of F and is second to the right of C. / D, F के तरुंत बायी ंतरफ ह ैजो C
के दािहनी ओर स ेदूसरा ह।ै 

3. A is second to the right of E, who is at one of the ends. / A, E के दािहनी ओर स ेदूसरा A ह,ै जो
िकसी एक िसरे पर ह।ै  

4. J is the immediate neighbour of A and B and third to the left of G. / J, A ओर B का िनकटतम
पड़ोसी ह ैऔर G के बायी ंओर स ेतीसरा ह।ै 

5. H is to the immediate left of D and third to the right of I. / H, D के तरुंत बायी ंओर ह ैऔर I के
दािहनी ओर स ेतीसरा ह।ै

 

Which of the following groups of students is sitting to the right of G? / िनη मg कौन सा छाjो ंका
समहू G के दािहनी ओर बठैा ह?ै

CHDE

CHDF

IBJA

ICHDF

Correct Answer :­CHDF 

33)

Question Stimulus :­

The 24thTirthankara or jain guru was / 24वg तीथꬅकर या जनै गiु थे

Vardhman Mahavira / वध縂ꬅमान महावीर

Rishabhnath / ऋषभनाथ

Parsavanath / पास縂ꬅवनाथ

Adityanath / आिद䄀欃नाथ

Correct Answer :­Vardhman Mahavira / वध縂ꬅमान महावीर 

34)

Question Stimulus :­

Which falls is locally called the Bee Falls; so called for the stinging effect of water on people who bathe there? /
िकस झरन ेको эथानीय Эर पर बी फॉА कहा जाता ह,ै sुंिक वहा ं�笃ान करन ेवाल ेलोगो ंको वहा ंका पानी चभुता ह?ै

Patal Pani / पातालपानी



Jamna Prapat  / जमनुा ĸपात

Chachai Falls / चचई  फॉА

Keoti Falls / िकओटी फॉА

Correct Answer :­Jamna Prapat  / जमनुा ĸपात 

35)

Question Stimulus :­

Who holds the distinction of being the first President of the BRICS Bank? / िĺť बġक के पहल ेअ䰀洅尀� के iप मg
िकसन ेपहचान बनाई ह?ै

Arvind Subramaniam / अरिवΪ सĺुमिणयम

KV Kamath / केवी कामथ

Subramanian Swamy / सĺुमिणयाᘀ┄ामी

Kaushik Basu / कौिशक बास ु

Correct Answer :­KV Kamath / केवी कामथ 

36)

Question Stimulus :­

Climate of India may be broadly described as __./ भारत की जलवाय ुको बड़ ेपमैान ेपर __के iप मg विण縂ꬅत िकया जा
सकता ह।ै

Mild temperate Maritime climate / हπा शीतोС समĵुी जलवायु

Tropical Moist type / उСकिटबधंीय नम ĸकार

Tropical Monsoon type / उСकिटबधंीय मानसनू ĸकार

Moist Mid Latitude Climate / नम म䰀洅 अ尀�ाशं जलवायु

Correct Answer :­Tropical Monsoon type / उСकिटबधंीय मानसनू ĸकार 

37)

Question Stimulus :­

The Chief Justice of the High Court is appointed by __./ उŵ Ύायालय का म䴀ु� Ύायाधीश __¸ारा िनयőु िकया
जाता ह।ै

The President / राЊ縂ꬅपित



The Governor / रा䐀�पाल

Prime Minister / ĸधानमjंी

Union Law Minister / कgĵीय काननू मjंी

Correct Answer :­The President / राЊ縂ꬅपित 

38)

Question Stimulus :­

Select the option, which is the logical equivalent of the statement given below: / वह िवकώ
चिुनए,जो तक縂ꬅ की ꔀ縄िЊ स ेनीच ेिदए गए कथन के समान ह ै:

If today is Saturday, then we will go to movie tomorrow. / यिद आज शिनवार ह,ै तो कल हम िफ̈́
दखेन ेजायgग।े

If we don’t go to movie tomorrow, then today is not Saturday. / यिद कल हम िफ̈́ दखेने
नही ंजात ेहġ, तो आज शिनवार नही ंह।ै

If today is not Saturday, then we will not go to movie tomorrow. / यिद आज शिनवार नहीं
ह,ै तो कल हम िफ̈́ दखेन ेनही ंजायgग।े

If we go to movie tomorrow, then today is Saturday. यिद हम कल िफ̈́ दखेन ेजात ेहġ, तो
आज शिनवार ह।ै

If today is not Saturday, then we will go to movie tomorrow. / यिद आज शिनवार नही ंह,ै
तो कल हम िफ̈́ दखेन ेजायgग।े

Correct Answer :­If we don’t go to movie tomorrow, then today is not Saturday. / यिद
कल हम िफ̈́ दखेन ेनही ंजात ेहġ, तो आज शिनवार नही ंह।ै 

39)

Question Stimulus :­

Elections to the Madhya Pradesh Legislative Assembly were held for the first time in________. / म䰀洅 ĸदशे िवधान
सभा के चनुाव पहली बार ______ मg îए थ।े

1956

1965

1957

1955

Correct Answer :­1957 



40)

Question Stimulus :­

If mobile phone is turned on, then if someone cries then the rotator rotates. No one is
crying while the rotator is stationary, then the phone can be switched off. / अगर मोबाइल को
ऑन िकया गया ह,ै तो यिद कोई रोता ह ैतो रोटटेर घमूता ह।ै जब रोटटेर 䄀欃эथर ह ैऔर कोई भी रो नही ंरहा ह,ै तो फ़ोन 䄀欃ᘀ┄च ऑफ
हो सकता ह।ै

True / सही

False / गलत

Maybe / हो सकता है

Irrelevant / अĸासिंगक

Correct Answer :­True / सही 

Topic:­ Mental Ability and Mental Aptitude
1)

Question Stimulus :­

A man spends Rs 65 on week days and Rs 100 on Sundays. What is his average expenditure
for a week? / एक आदमी 65 iपय ेखच縂ꬅ स쀍ाह के िदनो ंमg खच縂ꬅ करता ह ैऔर रिववार के िदनो ंमg 100 iपय ेखच縂ꬅ
करता ह|ै उसका एक स쀍ाह का औसत खच縂ꬅ sा ह?ै

Rs 65

Rs 75

Rs 70

Rs 80

Correct Answer :­Rs 70 

2)

Question Stimulus :­

Find the value of     /   का मान िनकािलए

5



4

1

2

Correct Answer :­4  

3)

Question Stimulus :­

In the sequence shown below, which figure comes next? / नीच ेिदखाय ेगय ेïम मg अगली आकृित
कौन सी होगी?

Correct Answer :­  



4)

Question Stimulus :­

A retailer buys a washing machine marked at Rs. 4800 & gets 2 successive Discounts of 15% & 5%. He
spends Rs. 124 on transport & sells it at gain of 13%.Find selling price of the machine? / एक खदुरा िवïेता
एक वािशगं मशीन खरीदता ह ैिजसका िच䄀欃Ψत म·ू 4800 iपए ह ैऔर उस े15% और 5% की 2 लगातार छूट िमलती ह।ै वो
प䨀✄रवहन पर 124 ħपय ेखच縂ꬅ करता ह ैऔर 13% के लाभ स ेमशीन बचेता ह।ै मशीन का िबïी म·ू sा ह?ै

Rs. 5520 / iपए 5520

Rs. 4520 / iपए 4520

Rs. 3520 / iपए 3520

Rs. 2520 / iपए 2520

Correct Answer :­Rs. 4520 / iपए 4520 

5)

Question Stimulus :­

A train covers a distance of 12 km in 10 seconds. If it takes 7 minutes to pass a pole, then the length of the train is/ एक
ट縂ꬅन 10 सकेंड मg 12 िकमी की दूरी तय करती ह।ै यिद खभं ेको पार करन ेमg 7 िमनट लगत ेहġ, तो ट縂ꬅन की ल儀ᴃाई होगी

120 m/ 120 मी

140 m/ 140 मी

160 m/ 160 मी

180 m/ 180 मी

Correct Answer :­140 m/ 140 मी 

6)

Question Stimulus :­

56 / 7 ‐ 3 + 17 x 2 = ?

44

39

48

51/3



Correct Answer :­39 

7)

Question Stimulus :­

One number is six ᜀ꼄mes as large as the other. The percentage that the second number less than the first number is /
एक स䴀ं�ा दूसरी स䴀ं�ा स ेछह गनुी बड़ी ह।ै पहली स䴀ं�ा स ेकम उस दूसरी स䴀ं�ा की ĸितशतता है

16  

60

83

90

Correct Answer :­83  

8)

Question Stimulus :­

In the following question, one term in the number series is wrong. Find out the wrong
term. / िनη ĸЍ मg, स䴀ं�ा mखंला मg एक पद गलत ह|ै गलत पद ᄀ윅ात कीिजय|े  2,5,11,23,46,95

95

46

11

5

Correct Answer :­46 

9)

Question Stimulus :­

Two candidates A and B appear for an interview for two vacancies in the same company.
The probability of A’s selection is 1/7 and B’s is 1/5. What is the probability that both of
them will be selected? / दो उκीदवारो ंA और B के एक ही कंपनी मg दो 䨀✄र䄀欃őयो ंके िलए ĸकट होत ेहġ। चयन की
सभंावना A की 1/7 ह ैऔर B की 1/5  ह।ै sा सभंावना ह ैिक उन दोनो ंका चयन िकया जाएगा?

1/7

1/5



5/7

1/35

Correct Answer :­1/35 

10)

Question Stimulus :­

A train 125m long passes a man, running at 5kmph in the same direcᜀ꼄on in which train is moving, in 10sec. What is the
speed of the train? / एक 125 मीटर लबंी ट縂ꬅन एक आदमी, जो 5 िकमी/घटंा की गित स ेउसी िदशा मg दौड़ रहा ह ैिजस िदशा
मg ट縂ꬅन चल रही ह,ै को पार करन ेमg 10 सकेgड लतेी ह।ै ट縂ꬅन की गित sा ह?ै

55 kmph / 55 िकमी ĸितघटंा

54 kmph / 54 िकमी ĸितघटंा

50 kmph / 50 िकमी ĸितघटंा

45 kmph / 45 िकमी ĸितघटंा

Correct Answer :­50 kmph / 50 िकमी ĸितघटंा 

11)

Question Stimulus :­

If the code for SOCCER is QMAACP then what will be the code for CRICKET? / यिद SOCCER के िलय ेकोड QMAACP है
तो CRICKET के िलय ेsा कोड होगा?

RIGACAP

GPARICA

RCIAGPA

APGAICR

Correct Answer :­APGAICR 

12)

Question Stimulus :­

Complete the series choosing the missing number: / िवल쀍ु स䴀ं�ा चनुकर mखंला को परूा कीिजए :

4, 11, 25, ___, 109, 221

50



40

53

58

Correct Answer :­53 

13)

Question Stimulus :­

A pipe can fill a tank in 6 hrs. Due to leakage, it took 7 hrs to fill the tank. The leak can drain the water of
the tank in / एक पाईप एक टġक को 6 घटंो ंमg भर सकता ह।ै 䨀✄रसाव की वजह स,े इस ेटġक को भरन ेमg 7 घटंg लग।े 尀�रण
टġक के पानी को इतन ेसमय मg बह सकता है

40 hrs / 40 घटंे

41 hrs / 41 घटंे

42 hrs / 42 घटंे

43 hrs / 43 घटंे

Correct Answer :­42 hrs / 42 घटं े

14)

Question Stimulus :­

In a certain code   ‘Eat fresh apple’ is written as ‘keat teek kata;   ‘Eat the food’  is written
as  ‘meek peek teek’  and  ‘Fresh lime juice’  is written as   ‘ kata seda tob’ . In that code
the word  ‘keat’  is used for : / िकसी खास कोड मg, ‘Eat fresh apple’ को ‘keat teek kata िलखा जाता है
; ‘Eat the food’ को ‘meek peek teek’ िलखा जाता ह ैऔर ‘Fresh lime juice’ को ‘ kata seda tob’  िलखा
जाता ह|ै उसी कोड मg श䨀�  ‘keat’ इसके िलए ĸयोग िकया जायगेा:

apple

juice

lime

food

Correct Answer :­apple 

15)

Question Stimulus :­



The percentage of women in a panchayat is 49. One­third of the men are can read and
write.  The number of illiterate men is 3400. How many women are there? / एक पचंायत मg
मिहलाओ ंकी ĸितशतता 49 ह।ै पħुषो ंका एक­ितहाई िह㠀挂ा पढ़­िलख सकता ह।ै िनर尀�र पħुषो ंकी स䴀ं�ा 3400 ह।ै
मिहलाएँ िकतनी हġ?

4900

9800

10200

5100

Correct Answer :­4900 

16)

Question Stimulus :­

If ABCDEF is coded as ZYXWVU then what will be the code for MERCEDES? / यिद ABCDEF को ZYXWVU स ेकोिडत
िकया जाता ह ैतो MERCEDES के िलय ेsा कोड होगा?

IVNXVHVW

NVIXVWVH

WHVVNXIV

XNVIWVHV

Correct Answer :­NVIXVWVH 

17)

Question Stimulus :­

What will be the next term in the series / mृंखला मg अगला पद sा होगा?

Z, y, X, w, V, u, T, s, R, ___________?

Q

q

P

p

Correct Answer :­q 



18)

Question Stimulus :­

In a code, SHARE is wriᜀ䀅en as BFIST and NAME as BFNO, how is RUSH wriᜀ䀅en in that code? / एक कोड मg, SHARE को BFIST
एव ंNAME को BFNO िलखत ेहġ। उसी कोड मg RUSH को कैस ेिलखgग?े

SVTI

ISTV

QTRG

HRSU

Correct Answer :­ISTV 

19)

Question Stimulus :­

In a certain code  ‘salt pan owners’  is written as ‘ deje jede deej’  ;   ‘owners of house’  is
written as  ‘ eedje deej jeed’   and   ‘ club house member’ is written as    ‘jeed  doje jode’  .
In that code the word  ‘eedje’  is used for : / िकसी खास कोड मg, ‘salt pan owners’ को ‘ deje
jede deej’ िलखा जाता ह ै; ‘owners of house’ को ‘ eedje deej jeed’ िलखा जाता ह ैऔर ‘ club house
member’ को ‘jeed  doje jode’ िलखा जाता ह|ै उस कोड मg श䨀� ‘eedje’ इसके िलए ĸयोग िकया जायगेा:

salt

pan

house

of

Correct Answer :­of 

20)

Question Stimulus :­

If 35 is subtracted from a number, then it reduces to 80% its original value. What is the 3/5 of that number? / यिद 35
को िकसी स䴀ं�ा स ेघटाया जाए, तो वह घट कर अपन ेमलू मान का 80% बन जाती ह।ै तो उस स䴀ं�ा का 3/5 sा होगा?

95

100

110



105

Correct Answer :­105 

21)

Question Stimulus :­

How many seven leᜀ䀅er words beginning with ‘S’ and ending with N can be formed from the leᜀ䀅ers of the word
SECTION? / SECTION श䨀� के अ尀�रो ंस े‘S’ स ेशiु हो रह ेऔर N स ेसमा쀍 हो रह ेिकतन ेसात अ尀�र वाल ेश䨀� बनायg
जा सकत ेह?ै

720

480

120

240

Correct Answer :­120 

22)

Question Stimulus :­

What is the sum of the greatest 4 digit and smallest 5 digit number? / 4 अकं की सबस ेबढ़ी स䴀ं�ा एव ं5 अकं की
सबस ेछोटी स䴀ं�ा का जोड़ sा होगा?

99999

100000

109999

19999

Correct Answer :­19999 

23)

Question Stimulus :­

Which one of the following four addresses is NOT EXACTLY the same as the one given
below? / िनη िदयg गय ेचार पतो ंमg स ेनीच ेिदय ेगय ेपत ेके ठीक समान कौन सा एक नही ंह?ै   

 

Greater London Authority
City Hall
The Queen’s Walk



More London
London SE1 2AA

(i) Greater London Authority
City Hall
The Queen’s Walk
More London
London SE1 2AA

 
(ii) Greater London Authority
City Hall
The Queen’s Walk
More London
London SE1 2AA

(iii) Greater London Authority
City Hall
The Queen’s Walk
More London
London SE1 2AA

 
(iv) Greater London Authority
City Hall
The Queen’s Walk
More London
London SC1 2AA

i

ii

iii

iv

Correct Answer :­iv 

24)

Question Stimulus :­

The below series uses a sequence of alphabets and numbers. Identify the incorrect
combination / नीच ेदी गई mखंला अ尀�रो ं एव ंस䴀ं�ाओ ंका अनïुम ĸयोग करती ह|ै गलत सयंोजन पहचािनय|े

 

(i) WX1245622T1             

(ii) WX1243622T1               

(iii) WX1245622T1             



(iv) WX1245622T1

i

ii

iii

iv

Correct Answer :­ii 

25)

Question Stimulus :­

What will be the next term in the series? / mृंखला मg अगला पद sा होगा?

ZA, YB, XC, WD, VE, UF,___________

TG

SG

TH

SH

Correct Answer :­TG 

26)

Question Stimulus :­

What is the fourth proportional of the given number, 0.2, 0.6, 0.5? / दी गई 0.2,
0.6, 0.5 स䴀ं�ाओ ंका चौथा समानपुात sा ह?ै

0.8

1.5

0.41

None of these/ इनमg स ेकोई नहीं

Correct Answer :­1.5 

27)

Question Stimulus :­



Complete the series choosing the missing number: / िवल쀍ु स䴀ं�ा चनुकर mखंला को परूा कीिजए :

1, 2, 4, 7, 11, 16, ____

22

20

18

24

Correct Answer :­22 

28)

Question Stimulus :­

What is the minimum number of straight lines needed to build the following figure? / िनη आकृित को बनान ेके िलये
Ύनूतम स䴀ं�ा म◌ें िकतनी सीधी रेखाओ ंकी आवЇकता होगी?

13

14

15

16

Correct Answer :­16 

29)

Question Stimulus :­

CANCELLED

(4x2­9) X (2x2­3x+1)/ (2x­3) =?

4x­3



3x­4

2x­3

1

Correct Answer :­2x­3 

30)

Question Stimulus :­

Anu bought apples at Rs. 12 for 5. She targets a profit is 15%. At what price should she sell 10 apples? / अन ून े12
ħपयो ंवाल ेसबे को 5 ħपयो ंमg ख़रीदा| उसन े15% लाभ का लſ रखा| उस े10 सबेो ंको िकतन ेमg बचेना चािहए?

Rs. 1.80

Rs. 3.60

Rs. 0.36

Rs. 27.60

Correct Answer :­Rs. 27.60 

Topic:­ Science and Simple Arithmetic
1)

Question Stimulus :­

Use the following graph to answer the question  / ĸЍ के उ̃र दने ेके िलए नीच ेिदए गए ĭाफ का ĸयोग
करg।

The cost of Engine is more than the cost of gear box by Rupees? (Cost of the two wheeler
is Rs. 40,000?)  / इजंन का म·ू गीयर बॉť के म·ू स ेिकतन ेiपए 䘀�ादा ह?ै ( दो पिहया वाहन का म·ू 40000



iपए ह।ै)

 

5600

4400

7400 

None of these / इनमg स ेकोई नहीं

Correct Answer :­5600 

2)

Question Stimulus :­

The curved surface area of a right‐circular cylinder of base radius ‘r’ is obtained by mulᜀ꼄plying its volume by __________. /
िj䐀�ा ‘r’ वाल ेलबं वतृीय बलेन का वï पПृ 尀�jेफल उसके आयतन को िकसस ेगणुन करके ĸा쀍 िकया जाएगा?

2 r

2 / r

2 r2

2 / r2

Correct Answer :­2 / r 

3)

Question Stimulus :­

Find antilog (2.4567)  / (2.4567) ĸितलघ ुिनकािलये

286.3

2863

2.863

0.2863

Correct Answer :­286.3 

4)

Question Stimulus :­



The food synthesised in the leaves should be transported to all the parts of a plant. This is done by a tissue made
of specialised cells called / पि̃यो ंमg सКंिेषत भोजन पौध ेके सभी भागो ंमg प䨀✄रविहत िकया जाना चािहय|े यह एक
ऊतक ¸ारा िकया जाता ह ैजो िविशь ट कोिशकाओ ं¸ारा बना होता ह,ै जो कहलाता है

Xylem / जाइलम

Phloem / 䘀鰄ोएम

Vascular ᜀ꼄ssue / वािहका ऊतक

Stem / तना

Correct Answer :­Phloem / 䘀鰄ोएम 

5)

Question Stimulus :­

A mixer jar becomes hot when the mixer is run for a few minutes  due to / िमťर के कुछ िमनट
चलन ेके बाद िमťर जार गम縂ꬅ हो जाता ह,ै इसका कारण है

Speed of the motor / मोटर की गित

Constant fricᜀ꼄on between the moving parts of the machine / मशीन के सचंिलत भागो ंके बीच लगातार घष縂ꬅण

Noise produced by the motor / मोटर स ेउ̈Ό Αिन

Eliminaᜀ꼄on of fricᜀ꼄on / घष縂ꬅण का िवलोपन

Correct Answer :­Constant fricᜀ꼄on between the moving parts of the machine / मशीन के सचंिलत भागों
के बीच लगातार घष縂ꬅण 

6)

Question Stimulus :­

A chick hatches out from a hen's egg in_______ / एक चज़ूा एक मगुꬅ के अडं ेस ेिकतन ेसमय मg बाहर िनकलता ह?ै

1 week  / 1 स쀍ाह

2 weeks / 2 स쀍ाह

3 weeks / 3स쀍ाह

4 weeks / 4स쀍ाह

Correct Answer :­3 weeks / 3स쀍ाह 

7)



Question Stimulus :­

You must have seen Pipal saplings on the sidewall of your school or home.  How would
this have happen? / आपन ेअपन ेिव̇ालय या घर की दीवारो ंपर पीपल के पौध ेजiर दखे ेहोगं।े यह कैस ेहोता ह?ै

Some children would have planted them / कुछ बŵ ेउΨg वहा ंरोिपत करत ेहġ

Pipal likes to grow on the wall as people worship them / लोग पीपल की पजूा करत ेहġ और उसे
दीवार पर िवकिसत करना पसदं करत ेहġ

Birds have eaten the fruits and their droppings on the crevices of wall, enabled their
growth / प尀�ी फल खात ेहġ और दीवारो ंकी दरारो ंपर उनके मल पीपल की व䄀ृ欃䨀� मg सहायक होत ेहġ

Rain water must have brought them  / वष縂ꬅ का जल उΨg लाया होगा

Correct Answer :­Birds have eaten the fruits and their droppings on the crevices of wall,
enabled their growth / प尀�ी फल खात ेहġ और दीवारो ंकी दरारो ंपर उनके मल पीपल की व䄀ृ欃䨀� मg सहायक होत ेहġ 

8)

Question Stimulus :­

Evaluate (475 + 425)2 – 4 * 475 * 425 / (475 + 425)2 – 4 * 475 * 425 का मान िनकािलए

3600

3500

2500

3160

Correct Answer :­2500 

9)

Question Stimulus :­

Directions for the following two questions: Study the graph below and answer the
questions. (Consider approximate values for answers) / िनηिल䄀欃खत दो ĸЍो ंके िलए िदशा­िनदĝश: नीचे
िदए गए ĭाफ का अ䰀洅यन कीिजय ेऔर सवालो ंके जवाब दीिजय।े (जवाब के िलए अनमुािनत म·ूो ंपर िवचार कीिजय)े

 

चीनी उ̈ादन (1000 टन)



What was the raᜀ꼄o of average producᜀ꼄on of Sugar in first 2 years & last 2 years? / पहल े2 साल और आ䄀欃खरी 2 वषꬅ मg
चीनी के औसत उ̈ादन का अनपुात sा था?

25/23

23/25

24/16

None / कोई नहीं

Correct Answer :­23/25 

10)

Question Stimulus :­

The Distance­Time graph for an object moving with a constant speed is a / एक 䄀欃эथर गित स ेजान ेवाली वЭ ुके िलए
दूरी समय ĭाफ है

Curved line / वï रेखा

Straight line parallel to Y­axis / Y­ अ尀� के समानातंर सीधी रेखा

Straight line passing through 0rigin / मलू िबदं ुस ेगजुरती îई सरल रेखा

Straight line parallel to X ­axis / X­अ尀� स ेसमानातंर सीधी रेखा

Correct Answer :­Straight line passing through 0rigin / मलू िबदं ुस ेगजुरती îई सरल रेखा 

11)

Question Stimulus :­

When we walk, sit, stand, run or lie down, there is force acᜀ꼄ng on our body all the ᜀ꼄me. This force is / जब
हम चलत,े बठैत,े खड़ ेहोत,े दौड़त ेया लटेत ेहġ, एक बल हमारे शरीर पर हर समय काय縂ꬅ कर रहा होता ह।ै यह बल है



Fricᜀ꼄onal force / घष縂ꬅण बल

Gravitaᜀ꼄onal force / गħु̆ीय बल

Electrostaᜀ꼄c force / 䄀欃эथर वदै्युत बल

Magneᜀ꼄c force / चुंबकीय बल

Correct Answer :­Gravitaᜀ꼄onal force / गħु̆ीय बल 

12)

Question Stimulus :­

A boy is 10 years old & 148 cm tall. At the end of the growth period his height is likely to
be approximately (% of full height=78%) / एक लड़का   वष縂ꬅ बढ़ा ह1ै0और 148 समेी ल儀ᴃा ह|ै व䄀ृ欃䨀� काल
की समा쀍ी पर, उसकी ल儀ᴃाई की सिΌकटत: ( परूी ऊंचाई की ĸितशतता=78%)इतन ेहोन ेकी सभंावना है

189.7 cm

140 .4 cm

120 cm

112.7 cm

Correct Answer :­189.7 cm 

13)

Question Stimulus :­

If two pieces of lengths 13/5 m and 33/10 m are cut from a 11 m long rope, then the length of the remaining rope is
____________ / यिद एक 11 मी लबंी र㠀挂ी स े13/5 मी एव ं33/10 मी लबंाईयो ंके दो टकुड़ ेकाट ेगए, तब शषे र㠀挂ी
की लबंाई ............ होगी।

51/10 m / 51/10 मी

51/10 m / ­51/10 मी

51/5 m / 51/5 मी

51/­5 m / 51/­5 मी

Correct Answer :­51/10 m / 51/10 मी 

14)

Question Stimulus :­



Convex mirrors are used as rear view mirrors because they form / उ̃ल दप縂ꬅण का ĸयोग पЖदशꬅ अथवा पीछे दखेन ेके
दप縂ꬅण के iप मg िकया जाता ह ैsोिंक व ेबनात ेहġ

Images of objects spread over a large area / वЭओु ंका ĸितिबबं एक बड़ े尀�jे मg फैला होता है

Clear enlarged images / 㠀䐄Њ बढ़ा îआ ĸितिबबं

Wide images / चौड़ा ĸितिबबं

Erect images / ऊґव縂ꬅ­शीषꬅ ĸितिबबं

Correct Answer :­Images of objects spread over a large area / वЭओु ंका ĸितिबबं एक बड़ े尀�jे मg फैला होता ह ै

15)

Question Stimulus :­

If AB is a diameter for the given circle ∟ACB = __________ / यिद िदए गए वतृ का
Ґास AB ह ैतो ∟ACB = _____________ ह।ै

 

60o

45o

30o

90o

Correct Answer :­90o 

16)

Question Stimulus :­

Marble cancer is caused by / सगंमरमर कġसर िकसके कारण होता है

Deposition of soot particles  / कािलख कणो ंके िन尀�पेण से

Acid rain / अμ वषा縂ꬅ से

Ozone layer depletion / ओजोन परत अव尀�य से



Global warming / िवЌҐापी तापïमव䄀ृ欃䨀� से

Correct Answer :­Acid rain / अμ वषा縂ꬅ स े

17)

Question Stimulus :­

Use the following graph to answer the question  / ĸЍ के उ̃र दने ेके िलए नीच ेिदए गए ĭाफ का ĸयोग
करg।

What is the cost of tyres? (Cost of the two wheeler is Rs. 40,000?) / पिहयो ंका म·ू sा ह?ै (दो पिहया वाहन का म·ू 40000
iपए ह।ै)

Rs 5000 

Rs 8800 

Rs 12000 

Rs 4000

Correct Answer :­Rs 4000 

18)

Question Stimulus :­

The compound raᜀ꼄o of (2 : 3), (6 : 11) and (11 : 2) is: / (2 : 3), (6 : 11) एव ं(11 : 2) का िमm अनपुात ह:ै

1 : 2

11 : 24



36 : 121

2 : 1

Correct Answer :­2 : 1 

19)

Question Stimulus :­

Use the following graph to answer the question  / ĸЍ के उ̃र दने ेके िलए नीच ेिदए गए ĭाफ का ĸयोग
करg।

Which item in the two wheeler costs the maximum? / दो पिहया वाहन मg िकस वЭ ुका म·ू अिधकतम ह?ै

Tyres / टायर

Engine  / इजंन 

Transmission  / ट縂ꬅासंिमशन  

Gear box / गीयर बॉť

Correct Answer :­Transmission  / ट縂ꬅासंिमशन   

20)

Question Stimulus :­

Directions for the following two questions: Study the graph below and answer the
questions. (Consider approximate values for answers) / िनηिल䄀欃खत दो ĸЍो ंके िलए िदशा­िनदĝश: नीचे
िदए गए ĭाफ का अ䰀洅यन कीिजय ेऔर सवालो ंके जवाब दीिजय।े (जवाब के िलए अनमुािनत म·ूो ंपर िवचार कीिजय)े

 



चीनी उ̈ादन (1000 टन)

If average producᜀ꼄on of Sugar in first 3 years and second 3 years are compared, then during which slot producᜀ꼄on was
more? / अगर पहल े3 साल और दूसरे 3 वषꬅ मg चीनी की औसत उ̈ादन की तलुना की जाती ह,ै तो िकस 㠀똃ॉट के दौरान
उ̈ादन अिधक था?

First 3 years / पहल े3 साल

Second 3 years / दूसरे 3 साल

Middle 3 years / बीच के 3 साल

Can’t predict /अनमुान नही ंलगा सकते

Correct Answer :­Second 3 years / दूसरे 3 साल 

21)

Question Stimulus :­

If x% of ‘y’ is the same as 4/5 of 80, then the value of x y  is / यिद ‘y’ का x%, 80 के 4/5 के
समान ह ैतब xy का मान ह:ै

640

320

3200

6400

Correct Answer :­6400 

22)

Question Stimulus :­



Why do the insectivorous plants trap insects?  / कीटहारी पौध ेकीटो ंको sो ंपकड़त ेहġ?

Because they are predators / sोिंक व ेपरभ尀�ी होत ेहġ।

They like the taste of insects / व ेकीटो ंका ᘀ┄ाद पसदं करत ेहġ।

To overcome the Nitrogen deficiency in the soil / मदृा मg नाइट縂ꬅोजन की कमी को दूर करन ेके िलए।

They cannot synthesize food / व ेभोजन सКंिेषत नही ंकर सकत ेहġ।

Correct Answer :­To overcome the Nitrogen deficiency in the soil / मदृा मg नाइट縂ꬅोजन की कमी को
दूर करन ेके िलए। 

23)

Question Stimulus :­

Find the diameter of a circle, which has an area of 154 square feet.   / उस वृ̃ का Ґास ᄀ윅ात
कीिजए, िजसका 尀�jेफल 154 वग縂ꬅ फीट ह।ै

49 feet / 49 फीट

24.5 feet / 24.5 फीट

14 feet / 14 फीट

7 feet / 7 फीट

Correct Answer :­14 feet / 14 फीट 

24)

Question Stimulus :­

An electric cell produces electricity from the / एक िवद्युत ्सले िवद्युत ्का उ̈ादन इसके ¸ारा करता है

source of current / धारा का mोत

circuit / प䨀✄रपथ

chemicals stored in it / इसमg सिंचत रसायन

switch / 䄀欃ᘀ┄च

Correct Answer :­chemicals stored in it / इसमg सिंचत रसायन 

25)

Question Stimulus :­



The locus of a point at equal distance of ‘a’ cm from a fixed point ‘A’ is a __________. / एक िनयत िबदं ु‘A’ स ेसमान दूरी
‘a’ समेी. पर 䄀欃эथत िबदं ुका िबќदुपथ _______ ह।ै

circle with radius ‘a’ and centre ‘A’ / ‘a’ िj䐀�ा व ‘A’ कgĵ वाला वतृ

square with side ‘a’ / ‘a’ भजुा का वग縂ꬅ

rhombus with side ‘a’ / ‘a’ भजुा वाला समचतभु縂ुꬅज

straight line / सीधी रेखा

Correct Answer :­circle with radius ‘a’ and centre ‘A’ / ‘a’ िj䐀�ा व ‘A’ कgĵ वाला वतृ 

26)

Question Stimulus :­

A free falling body moves with a constant speed. Its motion is said to be / एक मőु iप स ेिगरता îआ िनकाय 䄀欃эथर
गित के साथ चलता ह।ै इसकी गित कहलाती है

Uniform / समान

Non uniform / असमान

Initially uniform  finally non uniform / ĸारंभ मg समान अतं मg असमान

Initially non uniform and finally uniform / ĸारंभ मg असमान एव ंअतं मg समान

Correct Answer :­Uniform / समान 

27)

Question Stimulus :­

Summers in Chennai are usually hot & humid .So the kind of clothes one should wear in summer is / चΌेई मg
गिम縂ꬅया ँअťर गम縂ꬅ और आĵ縂ꬅ होती हġ| इसिलय ेगमꬅ के मौसम मg हर एक को इस तरह के कपड़ ेपहनन ेचािहये

Silk / रेशम

Woolen / ऊनी

Coᜀ䀅on / कॉटन

Polyester / पॉिलएЬर

Correct Answer :­Coᜀ䀅on / कॉटन 

28)

Question Stimulus :­



If A = 60o and B = 30o, then cos A cos B – sin A sin B is __________ / यिद A = 60o एव ंB = 30o, तब cos A cos B – sin
A sin B = __________ ह|ै

cos (A + B)

cos (A – B)

sin (A + B)

sin (A – B)

Correct Answer :­cos (A + B) 

29)

Question Stimulus :­

Microorganisms act  upon the dead plants to produce / मतृ पौधो ंपर सßूजीव काय縂ꬅ करके उ̈ािदत
करत ेहġ

Humus / हयू्मस

Garbage / कूड़ा­कचड़ा

Soil / मदृा

Wood / लकड़ी

Correct Answer :­Humus / हयू्मस 

30)

Question Stimulus :­

There is a group of non cellular organisms, which after invading a cell take over the machinery of the host to
reproduce. Name that group / गरै कोिशकीय जीवो ंका एक समहू ह ैजो कोिशका पर आïमण करन ेके पЖात उस
मजेबान की मशीनरी को ĸजनन करन ेके िलए अपन ेअिधकार मg ल ेलतेा ह।ै उस समहू का नाम बताइए।

Virus  /   िवषाणु

Bacteria / जीवाणु

Protozoa / ĸोटोज़ोआ

Fungus  /   कवक

Correct Answer :­Virus  /   िवषाण ु


